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pp.249~250
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code : 5-33.py

def ispalindrome(s):
if len(s) <= 1:
return True
elif s[0] !'= s[-1]:
return False
else:

N Oy o AW N

return ispalindrome(s[1:-1])
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code : 5-34.py

o}

s 1ispalindrome(s)

"" | True

"a" | True

"aa" | True

"aba" | True

"abba" | True

"aaba" | False

"abcba" | True
"0{E Q1A ot E0{" | False
"O{EQHHQtE0" | True

def ispalindrome(s):
2 return None # Write your Boolean expression here.




p.250

5.2 AlZt4 (for B HX)

47 (Ag 74 4.3) oA A3 trinum S for T2 A ZHASHAL

5.3 GO 71X|1 MIF AIXSH | (for £ HE)

47 (A5 A 4.4) oA|A] A3 square S-S for X2 A ZHAJ5HAL
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5-38.py

SHrE 2| 2 H3EIAL, A 38 749 2|2 E append H|AEE ARRS = U
code :
def updown(ns):
if ns = []:
if ns[0] % 2 == O:
return [ns[0]//2] + updown(ns[1:])
else:
return [ns[0]*2] + updown(ns[1:])
else:
return []
# Test code
print(updown([4, 6, 5, 3, 7, 6, 2, 1, 3, 2]))
# 2, 3, 10, 6, 14, 3, 1, 2, 6, 1]
print(updown([14, 69, 87, 13, 0, 16, 83, 19, 45, 88]))
# 7, 138, 174, 26, 0, 8, 166, 38, 90, 44]
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